Economics 3250 Dr. Lozada
Spring 2010 Exam 1

Do Not Turn This Page Over Until You Are So Instructed!

This exam has 25 points. There are six questions on the
exam. The number of points for each question is shown next
to the question number. Two questions are worth 6 points,
one is worth 4 points, and the rest are worth three points
each. ;

Put your answers to the exam in a blue book.

You have one hour (that is, until 2:25pm) to take this
test. After the test is over, I'll lecture until the regular class
period ends.

Answer the questions using as much precision and detail
as the time allows. Correct answers which are unsupported
by explanations will not be awarded points.



Answer all of the following six questions.

1. [6 points] In the figure attached to this exam, three graphs are
drawn. These graphs all illustrate the same result in environ-
mental economics. The letter “Q” stands for quantity of output;
“MEC” stands for “Marginal External Cost;” and “MR” stands
for “Marginal Revenue.” Finish labeling these graphs completely,
including all the lines and curves, the axes, and the important
points on the @ axes. Explain what important result the graphs
show.

Note: You have not seen all of the third graph before, but you
have seen part of it before.
2. [4 points]
(a) What do economists mean by “efficiency?”
(b) What do economists mean by “Pareto Optimality?”
¢) What do economists mean by a “Pareto improvement?”
(d) Give an example of an efficient allocation which some people
would consider to be undesirable.

3. [3 points] Define, and thereby contrast:
(a) Willingness to pay.
(b) Willingness to accept.

4. [6 points] In class, we discussed eight potential disadvantages
of the Contingent Valuation Method. Describe three of them.

5. [3 points] Frank Knight suggested making a distinction be-
tween “risk” and “uncertainty.” What is the distinction? What
implication does it have for economics?

6. [3 points] Define, and thereby contrast, emission charges, user
charges, and product charges.



MEC




Answes b Exan |,

€cm 3250, Spy 201 O

@ Sec ‘H~< ij?LS.

hVPB - /ﬁwrme Vot Pset. Benefid
MC- M@Pue Cost

TR : Tobol Reperpe

TC: Total (/"k’“‘-I) Co.}f‘

N e TR-TC -
EC: Extengl CosT grcain C/
er | Af eﬁUQ""S hR amO( MC_).
i P maxlm.hbl] &) wakes MPB = O
@y : foc\‘all’ o/)‘/ﬂnb[ QR
> Mmevimezes TR - (TC+EC>
& m -TC’EC '
bquetes MR and MC+MEC ;
6’30&{45 MNPB 2. MEC

™ * "
Q >Q Lecay,gc‘neAYMF]hM; L’C (MJMECB,‘MBQI* Dgﬂ
7 Polickion 1o He pollbbn vithms  ayd so projuces tn odpvT luel
At 13 o L}'L.

The Lt MR cuvve m e tecond fw»,oh Cowupumés b the
Lﬂ’lea—r,u,ﬂwar&/—,rlo)om.?r R arve of te Hord jmf/\/- Tice
be cevse e gn under e MR curye i€ TR . S.Mle,,J/Lc

bortle omd ‘H\t MC corve i< TC’ td e tprea urder the MEC

curve s EC . ke, M“Ibfc of TR = m\g(a{;e of TC TR-TC s
it iyl . Where We sloze of TR = fe stope of TC+EC, TR-TC-EC
S ML X miPed. -



MEC

MNPB

4 lumit
of outpyT

& /unit of
ouﬂ)v}f




D) An allocatin 7 “eHirient" if ere s no dlfenapre

¢llo cation makmj Wp ow Worse p7§/ 2ud of lsst one /CV//JUM
be e off .

é) E%’Uﬁncﬂ X

C> A reéllocaton wlm/l\ hakes ne vne wovse ’D#MJ ot
least Someone L&#\, 0/7[.

d) One ’é(a,w,o(& world be 7,\/7)19' all neSoorces o e Perssn
a"ﬂ-d"w”akj "'Dﬁrqu( (JJe. A,s Lm\.? 4S Mo WSovrtes Weyre
wasted, iz cllocaton is efhuad, bt Sane pegple wansld

@L:)‘em‘ to i+s “u»\&.yhess“ (:’h thenr eyé‘).



@ )’L 4 /Mw‘n&7 b lmSvres /wo#qu)M»IIAfM7AX€[Q
(3 ke burovnt o
A } pels v t,ée
4»,9@ .}\ﬂt&(d,\r#r ﬂ.p(o/p bn of & o/er M%Ww S or

" ¢ te

i © O deesuet ke
Rjechn

L) T tmprit of mo»ﬁ wihed, ff/w-'d W & lonsomes (o sy 40141.1-2 would.
prwt o
ekl ot cosumer mditlond behcen, “He mizngss,

113

Frathon " end :

““"7 plm QA,pyéam 01[4/90/7 %«1‘% Lomsemmey dO€) nof bLke oy

te

e
i

o 4’éc .u
M]'(tvhm



©
@) OVerstetmg WT P+ i/ kespandeat loow 't .cc/vdé Luo‘u/oj , M:lx;ﬁiy wrpP
ma kes ha fﬁl/‘mtc( vt tome Wiove L’lnb , Cnd losk Lo ugv‘(.:u//

3) Undesstating WTP 4 sespondent WU hae fo f’i] (Free n"Aud) /wm[a:kﬁy“TP

mpkes ki prefemed ofeome only by :/gl.fe less ﬁ'/:e!), bt Stves don WMJ)

) WTP << WTA * Miy yske Mo tost. bepeft &na’»]srs Mecicrve
(vnab (e fo Come o 4 M;L:z‘bx)

4) Perd - whole bigs - WTP Lo e who le < WTP 4, eacl pat, Summed ore, g

perts

e) Velctle bias : method of Pagmert Caw alfeet shied WTP /ch../,Q : pegple it
ot ke ¢ mew T, bt neslt uot mird gy g p s, [«}

£) Stadm 9 port bigs © foupts pivem mdfyle - thite FetS G af e Mipenses,
e thottes:] o b i d THE% of respordets chovse (e) (1), o
Mapla® . SWish | BMle lewie T 0e 1L (), i v Survey 2, Momy fie
5\’""3 1 <43 23,.35D ‘50-‘% >*Zo Choose Ca) , x

f3> N jws'hm be L]ro-ﬁg.kma; So ""'/"”A“"f’ /)747 be vnsure of .ﬂ“y Awluers

k) LA Qv«l::b / U..,;L;.f,zﬂ_i.at L espendets shold he 94/} HAoemeld, "
bt Pt way be prssible .

¥ Althovet Sovey 15 (), (1) 1and
e Jueshm esks for 3 of '“q.a . (©) aue 51,,:3(“{ ""’f"’”“l L5

(g).
Note : Exvrmmmentet votsud lassism v < Prohzt prdlom (S ome peaples 67-:5) M~ oal
Weoelssefrl Vd:n‘n’h ’Mﬂ.odr, "'7LJ"'J‘% e éﬁ?”"jg;f‘ Valvaton ML'H.DJ.



&

Rf;k + %(_ odds re kh.ruh. For eﬂ‘-«/(e, ,[47’/”3 a 74)

¥ Lot |

Uuar-lwdyr fle odds are unknowyy . Fov Shple, e odps of =

Depn ered bery elected presidesd 20 Jebs Koo ttes, or Mo ofdy

fe D Day

Ml i 7Y bald be svecench),

Sibthims wnTh w3k Can b retnally wxclyzed and en gbyens espomse
caltalided . In sihetoms of che,}‘.uﬁ," He Juost one tosld A warr |,
f> vse .roljef,-[s\/( fDCSIc; at mloh,éal,'l:-l;r; !:7 éach I)'#N‘{(‘//’be'

e bbJ‘gc—ﬁ»e Wellves eye avallb(p



©

Eniiss om 0l‘ﬁ—-}¢q : f¢¢_s Aéu;/nl He et of /Do//w‘hd EncTs/oNnS
’wf oot bj e AYM

UVSer (/L&d,u v o polledom fee not /mm&n“e bosed m e amarnt of
pollhon enfled

Pmd‘,&{— 014,,}44 »éex dddecd to ﬂe/onu otl tmesmodPes /)WALCC‘{

Aj po//w‘ﬂg processes . The ¢omsumer qu,H? PAys HNae (a,LmuJ/L
Nex v lmete meidene = Au#q.f,w-&)



